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e Current LCGT design 0 0O
e Stable unfolded cavity design
e Stable folded cavity design
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e PRC Total length = 73.2826m
e SRC Total length = 73.2826m

ITM ROC = 7114m

ETM ROC =7114m

e Arm cavity length = 3km
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E(z) = Epexp(ikz) (5)
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3006.60/2
¢2_3 = —arctan <290424> 2 (11)
= 0.955 rad = 54.7° (12)
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5 Caretan (3006.67/2 + 73.2826 . 3006.69/2
=z = 2004.24 2004.24
= 0.020 rad =1.2° (14)
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L=73. 2826m

13 12 [1=1503. 345m

z A =1064nm
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N2 R=7114m M3 R=7114m
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L 1503.345 m R | 71164 m
A | 1.064x107% m | L | 73.2826 m

| o] | wifm] | 2pafm] | Gofm] [ wifmm] | zps | ¢ldeg] |
78.4 || 0.03137 | 2904.9 | 79.2 0.760 1.71 14.8
77.6 || 0.03137 | 2904.9 | 784 0.752 1.67 16.8
76.7 || 0.03137 | 2904.9 | 77.5 0.743 1.63 19.9
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